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Exercise 4.22

(a)
X P(x) xP(x) (x-u@?  (x-u)?P(x)
-4 0.02 -0.08 16.00 0.32
-3 0.07 -0.21 9.00 0.63
-2 0.10 -0.20 4.00 0.40
-1 0.15 -0.15 1.00 0.15
0 0.30 0.00 0.00 0.00
1 0.18 0.18 1.00 0.18
2 0.10 0.20 4.00 0.40
3 0.06 0.18 9.00 0.54
4 0.02 0.08 16.00 0.32
e 0.00 (W = IXP(x))
o= 2.94 (0% = X(x - P)2P(x))
o= 1.715 (0 = sqrt(0?))
(b)
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(c) P(-3.43 <x < 3.43) = 1 - P(x = -4) - P(x = 4)
=1.0.02-0.02
=0.96

So the probability that x will fall within two standard deviations of the mean is about 0.96



Exercise 4.24

X P(x) XP(x)

2 0.0408 0.0816

3 0.1735 0.5205

4 0.6020 2.4080

5 0.1837 0.9185

(b) P(x =5) =0.1837

(c) P(x <2)=P(x=2)=0.0408

(d) M =E(X) = ZxP(x) = 3.9286

The mean star rating for all 98 cars is 3.9286. (Almost 4.)

Exercise 4.32

X = P(x) xP(x)
6,999,999 0.00000003  0.21874997
-1 0.999999969  -0.99999997
H=E(x)=IxP(x}= -0.78125000

On avarage each ticket purchased represents about a 78 cent loss.



